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3. Complete the table for the point (1, 1).
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6. Explain what transformations you would need to apply to the graph of
y = f(x) to graph each function.
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8. If f(x) = \/x, sketch the graph of each function and state the domain and
range.
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bl%):é@/XSZis S
<

R=¢9€R|D =13 Eoge

/

Jan 21-21:48



2.93 Function Notation and Transformations.notebook March 06, 2018

9. If f(x) = Ixl, sketch the graph of each function and state the domain and

range.
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A ki 18. March each equation to its graph. Explain your reasoning.
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E ¥ 18. Match cach equation to its graph. Explain your reasoning.
4
A a)yf_(x_z)-‘rl e)yf—;—3
i 5 b) y=2lx—31-2 £) y=—05lx+ 4l + 2
¢ y=—"2Vx+3-—-2 g y=—05V]I —x+1
d) y= (025(x—2))" -3 h) y= —%(x+4}1+ 1
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19. The function y = f{x) has been transformed to y = af[k(x — d)] + . i
Determine 4, &, ¢, and o} sketch the graph; and state the domain and range o
for each transformation. @ —2y {1' —4 )
a) A vertical stretch by the factor 2, a reflection in the x-axis, and a
translation 4 units right are applied 0 y = V.
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19. The function y = f{x) has been transformed to y = af[k(x — 4)] + ¢« 3
Determine 4, k, ¢, and d: sketch the graph; and state the domain and range 1
for each transformation. @ 2
b) A vertical compression by the factor %, a reflection in the y-axis, a
translation 3 units left, and a translation 4 units down are applied to
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19. The function y = f{x) has been transformed to y = af[k(x — d)] + = =
Determine 4, k, ¢, and 4; sketch the graph; and state the domain and range . .
for each transformation. @ 3 |3 (“ 1 ) | 6

) A horizontal compression by the factor 3, a vertical stretch by the factor
3, a translation 1 unit right, and a translation 6 units down are applied | |

toy = lxl. ] !
D= ‘%x < (R |
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